Name: Date:

Teacher: Class:

Multiplication/Division 609

Why did it take the monster ten months to finish a book?
Because he wasn't very hungry.

Multiplication and Division

1L 2= 21. 24 + 4 = 41110+ 11 =
2. 5x5= 2. 1 x2= 4. 7Tx9=
3. 12+6= 28. 1+1= 8. 12+12=
4 10x12= 24 1 x5= 4. 11x11=
> 36+3= 2 11+1= 4% 60+ 5=
6. 7x6= 26. 2 x 11 = 6. 4 x 2=
7. 36+12 = 2. 5+5= 4 10+1=
8 10x5 = 28. 7 %10 = 48. 4 x9Q =
9. 36+4= 29. 4 +1 = 9. 40+ 10 =
10. 11 x4 = 30. 3x8= 0. 5x7=
11. 56 ~ 8 = 3. 20+10 = 5. 14 =2 =
12. 8 x10 = 32. 3 x11= 2. x 9=
13 30+5= 3. 11 +11 = 53. 50 + 10 =
14. A x4 = 34. 4 x5= . 2x12=
15. 18+ 2 = 3%. 20+ 5= 5. 12+3=
6. §x 3= 36. 9gx3= 6. 10x7=
17. 18+ 6 = 37. 48 -~ 8 = S/, 28 = 4 =
18. 9x§5= 38. §x 2= 8. 11 x5=
19. 10 = 10 = 9. g =7 = 59. 4+ 4=
20. 2 x 8= 40. 12 x5 = 60. 9x 12 =
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6+2=3
5x5=25
12+-6=2
10 x 12 = 120
36 +3=12
7 x6 =42
36 +12=3
10 x 5 = 50
36+4=9
11 x4 =44
56 +8=7
8 x 10 = 80
30+5=6
4x4=16
18+2=9
5x3=15
18+6=3
9x5=45
10+10=1
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Answer Key

Date:

Teacher:

Class:

Multiplication/Division 609

24.

28.

40.

2x8=16

Why did it take the monster ten months to finish a book?
Because he wasn't very hungry.

Multiplication and Division

24 -4 =106

1x2=2

1+1=1

1x5=5

11+1=11

2x11 =22

5+5=1

7x10=70

4+-1=4

3x8=24

20+10=2

11+11=1

20-5=4

9x3=27

48 +8=06

5x2=10

56 -7=38

12 x5 = 60
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52.

3x11=33

53.
4x5=20 4.
55.

110+ 11 =10
7%x9=063
12+-12=1
11 x11 =121
60 +5= 12
4%x2=28
10+1=10
4 x9=36
40 +-10=4
5x7=35
14+2=7

6 x9 =54
50+10=5
2x12=24
12+-3=4
10x7=70
28 +4 =7
11 x5 =155
4+4=1
9x12 =108
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